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QUESTION 1

A mission-critical virtual machine built on vSphere 4.1 needs to be moved to an ESXi 6.x host. Which virtual hardware
version is needed to move the virtual machine without upgrading?

A.6
B.7
C.10
D.11

Correct Answer: B

QUESTION 2

Which two options can be used for vCenter Server 6.x database availability? (Choose two.)
A. NSX load balancer

B. Microsoft SQL Server 2012/2014 AlwaysOn Availability Groups (AG)

C. vCenter Server Watchdog

D. vCenter Server Heartbeat

E. Microsoft Windows Server Failover Clustering

Correct Answer: BE

QUESTION 3

An administrator is attempting to enable Storage 1/0 Control on a datastore, but it is failing. What is the likely reason for
this failure?

A. The host is connected to a datastore is running on ESX 4.0.
B. The host is connected to a Fibre Channel storage array.

C. The datastore has multiple extents.

D. The datastore is managed by a single vCenter Server.

Correct Answer: C

QUESTION 4

What tool is utilized for detailed performance monitoring of the vCenter Server Appliance?
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A. vim-cmd
B. esxtop
C. Perfmon
D. vimtop

Correct Answer: D

QUESTION 5

Which is a valid requirement for deploying the vCenter Server Appliance 6.x to a DRS cluster?
A. One ESXi host in the cluster must not be in maintenance mode or lockdown mode.

B. At least one host in the cluster must not be in maintenance mode or lockdown mode.

C. One ESXi host in the cluster must not be in lockdown mode.

D. All ESXi hosts in the cluster must not be in maintenance mode.

Correct Answer: B
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